1/0 do/dtaus,,

Ratio to ATLAS

=
o

1071

1072

[EEY

0.5

IIIIIII|
rd
IIIIIII|

7000 GeV pp Jets

| I I | I I I | I I I | I I -
N-subjettiness 1,/1, (anti-k_(1.0), 400< p_< 500, |y| < 2.0) n

m ATLAS
--G-- Herwig++ 2.6.3 default —
--3-- Herwig 7.2.0 default ]
’/,i:::::@::s-\ N
ﬁ*“ \‘gst\ I

AN
\\
\\
B O
NN
PN
AN
NN

O
A N
A N
S N
N
Y

mcplots.cern.ch [arXiv:1306.3436]

mI R =
- “O-. ]
_ O _
- O Ed----- &----. \8__::::@&___ L . .
O ==-___ 6 = ]
- By T
L | L L L | L L L | L L L | L L
0.4 0.6 0.8 1

N-subjettiness tau32

Rivet 3.1.0, = 5.4M events

N

0.5



	Contents
	Page 1


